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 The technical and historical essay devoted to the stages of development
(1969 – 2000) of the plane network of the Berezhany geodesic polygon – the base centre
of the summer educational practice for the Geodetic faculty students (National univer-
sity “Lviv Polytechnic”).
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mβ ��β 1βΔ 2βΔ

 1 ���,�� 23007����-,�� 23007����-.��   0,34�� 23007����.��� +0,37�� +0,32��

 2 �� �, �� 51 50 06,78 51 50 06,25 0,44 51 50 06,70 +0,08 -0,45

 3 �� �, �� 74 57 23,57 74 57 22,99 0,58 74 57 23,12 +0,45 -0,13

 4 �, ���� 51 58 08,03 51 58 07,34 0,47 51 58 07,08 +0,95 +0,26

 5 ����& 14 52 27,14 14 52 28,06 0,25 14 52 28,39 -1,25 -0,33

 6 &���� 55 08 52,66 55 08 52,35 0,44 55 08 53,17 -0,51 -0,82

 7 �, ���� 121 59 27,83 121 59 27,75 0,62 121 59 28,69 -0,86 -0,94

 8 ���� �, 34 53 15,32 34 53 15,51 0,40 34 53 14,89 +0,43 +0,62

 9 �, ���� 41 33 11,06 41 33 11,75 0,33 41 33 11,24 -0,18 +0,51

 10 ����& 29 13 26,43 29 13 26,81 0,30 29 13 27,08 -0,65 -0,27

 11 ����& 105 39 52,81   105 39 54,07 0,60 105 39 53,20 -0,39 +0,87

 12 ��&�� 19 11 14,84 19 11 13,57 0,23 19 11 13,58 +1,26 -0,01

 13 ��&�� 20 10 42,33 20 10 43,99 0,33 20 10 44,20 -1,87 -0,21

 14 ��&�� 39 21 57,17 39 21 57,57 0,41 39 21 57,84 -0,67 -0,27

 15 �, ���� 53 04 29,77 53 04 29,65 0,44 53 04 29,80 -0,03 -0,15

 16 ����� 33 32 11,55 33 32 12,33 0,33 33 32 12,29 -0,74 +0,04

 17 ����& 111 24 36,33 111 24 35,60 0,47 111 24 35,08 +1,25 +0,52

 18 �, ���& 198 01 17,65 198 01 17,58 0,65 198 01 17,23 +0,42 +0,35
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